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1. GiiEmef OMR IWE UNF G
ovT FHIF (10 3F F7)

Instructions for:t andidates :

Candidates enter his / her
testion. Booklet Serial No.
=Digits) in the OMR Answer

Hitdates are required to give

ir answers in their own words
7 as far as practicable.
3 . Figures in the right hand margin
' indicate full marks.
quife Fiffe #
4 got F e ﬁ;m 4. 15 mihutes of extra time have been
' . allotted for the candidates to read
15 Az &1 3dies fear the questions carefully.
& v
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6. @US-H H 100 FEE wvT & O
frd & fa=gT 505941 &1 397 337
Afvard &1 g & sfuE gva &
W 39 W WU 50 I F &
qodih e S g T &
foe 1 3w e &1 gt o7 &1
3YFE FU4 T4 OMR 307 UFF T
4 13 wgt faweq & Jiet / &6
T 97 @ wmg FW fFEr o
e & gErgeHy / aver uared /
&g / ARG AT FT OMR Iwiv-
gfaer & maim #war mar &
=R QRINT TR AT g

7, @UZ-d § 30 &g INIGFIT E,
o @ fe=T 15 vt &1 397 a7
sfqard &1 geds 37 & o 2 9%
frifta &g afalte, @ @vg §
8 T Fwvig wvT 4 74 &, A
4 fE=t 4 wvat &1 gav @1 g
g g & v 5 3% it &1

a.ﬁm?wa‘?s'ﬁagfﬁa?mww &
¥ QUi afed &1

[ 110 ]
This question booklet is divided into
two sections — Section-A and

Section-B.

In Section-A, there are
100 objective type questions, out
of which any 50 questions
are to be answered  First
50 answers will be evaluated in
case more than 50 questions are
answered. Each question carries
1 mark. For answering these
darken the circle with blue / black
ball pen agairist the correct option
on OMR Answer sheet provided to
you. Do not use whitener / liquid
/ blade / nail etc. on OMR-sheet,
otherwise the result will be
treated {nvalid.

In Section-B, there are 3(_3 short
answer type questions, out of
which any 15 questions are to be
answered. Each question carries
2 marks. Apart from these, there
are 8 long answer type
questions, out of which any
4 questions are to be answered.

Each question carries 5 marks.

Use of any electronic appliances is

strictly prohibited.
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@ug - A / SECTION - A

aﬁﬁ-ﬂa‘ W¥T / Objective Type Questions

uvT GEAT 18 100 7% & Ty & @r 9w fweq Ry 7v § frd @ o wet
ﬁﬁ?sowﬁ%mmm?ﬂ‘wwﬁf&m#mmyﬁzwﬁﬁw
Cadl ©© 50x1=50
Question Nos. 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

OMR-Sheet, 60 % 1 = 50
}/ﬁm%ﬁgaﬁﬁmﬁma@a%wa@—m%? ;
(A)  x%2+7x-30 | V‘B) x2 ~7x-30
(€)' x%+7x+30 . (D) x2-7x+30

Which of the fnllomng quadratic polynomials has zeroes

3and-107?
A) x2+7x£30 (B) x2-7x-30
(C) Ox%+7x+30 - (D) x2-7x+30

2. i o REm wge F I B A6 3 T IS IAEE - 2 3, A 9@

femma agw 2
.{m  x?-3x-2 (B) x2-= 3x+3
(C) x%*-2x+3 , D) x*+3x-2
SS/A/605 - 4. | | Page 3 (.;f'44
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m [110] .

If the sum of zeros of a quadractic polynomial is 3 and their

product is - 2 then that quadratic polynomial is

(A) x2-3x-2 B) x2-3x+3
(C) x%-2x+3 (D) x%2+3x-2
3. AR px) =x*-2x3+17x% —4x430 F g(x)=x+2 @ W @ ST
@ WTThS HT U 2
(A) 6 - (B) 3
€ 4 | (D) S
If p(x)=x%-2x%+17x2-4x+30 is divided by g(x)=x+2 then
the degree of the quotient is |
(A) © B) 3
© 4 | (D) 5
4.  x+2y+3=0, 3x+6y+9=0 % fhad g & ?
[/- B) & ~(B) IR EE
\9 S (D) T A FIE T
How many solutions will x+2y+3 =0, 3x+6y+9 =0 have ?
(A) One solution
(B) No solution
(C) Infinitely many solutions
(D) None of these
SS/A/605
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| - [110]
2 thas it & @it afe gqia & @ gal Y g gl

(A 1 (B) 2

(c) 3Afira _ (D) ¥ 9§ FI3 A&

v

If the graphs of two linear equations are parallel then the number

of solutions will be
(A) 1 | B) 2

(C) infinitely many . (D). none of these

-6/'5&@35 e I 5x —4y +8=0 T 7x+6y=9=0 2

- (A) Hﬂﬂ y FET

(C) B | (D) ¥ @ H§ TE

The pair.of linear equations 5x-4y+8=0 and 7x+6y-9=0 is

(A} consistent - (B) inconsistent
(C) dependent | (D) none of these
e R T el 3x2 -5x+2=0 ¥ qf « T A A a? +p% % WM B
| 13 9
@) 5 B) 13
S 3
© 3 (}L 5
SS/A/605
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‘H | | [110]

: i 2_5x+2=0t
If « and B are roots of the quadratic equation 3x“—5x hen

the value of a? +p2 is’

13 9
W g B 13
S 3

af fam e 2x2 —7x - p=0 F T A 2@ A pH G

(A) 4 . 7, —1B) - 4

€ -6 (D) 6

If one root of the quadrétic equation 2x? -7x- p=.0 is 2 then the

value of p is

(A) 4 B =4
€ -6 | D) 6
R e el 212 - x - 620 F1 G A 2 R . 39w @ 0 2
. A8 =2 . (B 2
3
(C) 5 (D) 3
If one root of the quadratic equation 2x2 -x-6=0 is :ég’—thcn its
another root is
Ay -2 B) 2
5 :
€ 3 (D) 3
SS/A/605 ;
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10. , e @i 252 - 6x+3=0 & el I wpfa #0122

v’

[110]

(A) GRS @ IEHH  (B) SrEdfas ©F gEH
(C) et T (D) ¥ W BIg T

What is the nature of the roots of the quadratic equation

2x% —6x+3=0 ?

-

(A) real and unequal (B) real and cqua}
(C) motreal (D) none of these
11 e Redl 3 w1 5af wg 11 @ @ S 2 3 AT S
C o @me?
() 1 B) 2
© 3 (D) 4
{f 5th term of an A.P. is 11 and common difference is 2 themwhat:
is its first term ?
(A) 1 (B) 2
€ 3 : D) 4
12, nudl ot wwia A ® A n? +2n+1 3 W WA 63T T &
o (A) 29 (B) 19
ey 15 (D) 3T | I3 TE
>
The sum of an A.P. with n terms is n? +2n+1 then its 6th term is
(A 29 (B) 169
(C) 15 (D) none of these
SS/A/605 | Page.7.of 44/

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[110)
13, fierffan § i awiw SR AR ?
/; B . kB

w 1,7,9, 16, ... (B) X5 Xy & R e
| 2 .2 g2 g2
(C) x 2x, 3x, 4x, ... (D) 2% 4 , 6%, 8%,

Which of the following is in an A.P. ?

2 B & D

Ay 1,7.9,16, .. (B) X%, X7, X, X ...
(C) x, 2x, 3x,4x, ... D). 22, 42, 62, 8%,...
1/ P § P awim AR AR
LA 1,2,3,4,. - (B).3,6,9,12, ...
(© 2,4,6,8, ... 2 D) 22 4%, 6% 8% .

Which of the following is not in -an AR?P

A) 1,2,3, 4% B) 3,69, 12, ..

(C) 2,4,6,8, ... D) 22,42, 62,82, ..
Es/m ¥R 1, 4,7, 10, ... % YUW 20 T F ATES 2

(A) 500 (B 540

(C) 1S90 (D) 690

The sum of first 20 terms of the A.P. 1, 4, 7, 10, ... is

(C) 290 (D) 690
SS/A/605 !
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|1-10'-]
ly.ﬁmﬁlf@?rﬁﬁmwm ] 3 WET g ?

(A) sin260" +cos60° | ABT  sin 90" x cos 90’

(C) sin460° 2 (D) sin45 x —2
'cos45

Which of the following valucs is cqual to 1 ?

(A)  sin?60"+cos60°  (B) sin90° x cos 90’
(C) sin?60° (D) sin45° x ——t—
cos 45

B2 cos? A(1+tan? A) =

) sin®A B) coscc?A
(€ 1 L) :;.-;nzA_

. 11)« tan30° =
w B - (B) %’3. C &

(B) 1

19,/ cos 60° =

4 e
1 CA

i”JA) 5 (B) 5

(C)

Sl

1 .

SE/A/605 Page 9 of 44
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® 3

© = D) O

31 Fﬂﬁ{BsinﬁO“,O]?ﬁﬂ{0,8100560‘“}%3"1?[@?@%

(A) 8 ‘)B) 25

1
(C) 64 D) 3

The distance between the points ( 8 sin 60°, 0 ) and

(0, 8 cos 60°) is |
(A) 8 (B) 25
©) 64 , o 3

22, u%oto,ojwﬁgawﬁgpaﬁ%m{x,yyﬁﬁ@OP%

[
2 .2

(A) x2 - y? /113) x“+yY
@ x2-y? (D) T & HIE AL

If 0(0,0) be the origin and co-ordinates of the point P be ( x, Y )

then the distance OP1s

A)  Yx?-y* B) yx2+y?
€ x*-y° (D) none of these
| SS/A[605 l Page 10 of 44
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ﬁ y-u @ famg (12, 14) 1 gl @

A) 12 B) 14
© 13 | __(D)- 15
The distance of the point ( 12, 14 ) from the y-axis is -
A) 12 {.B] 14"
€ 13 | (D) 15
247 fag(-6,-8)R1wRR
A) -6 B) -8
LAC) 6 _ (D) 8
The ordinate of the point (-6, - 8 ) is
A) ' -6 (B) -8
© 6 D 8

25, famg (3,24 e e R 2 2

A) WU B few

) | () =g

In which quadrant does the point ( 3, - 4,) lie ?

(A) First - (B) Secoﬁd

(C) Third (D) Fourth
SS/A/605 '
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110
26. Frefafea 8 w-w fag foda wguta 3 fa? 2 o
A)  (3,2) (B) (-3,2)
€y (3,-2) Dy (-3,-2)
Which of the following points lies in sccond quadrant ?
(A)  (3,2) B) (-3,2)
€y (3,-2) (D) (-3,-2)
27. famgalt (4, - 4 ) 3K (- 4, 4) B PEwEE @ & v fawg &
frcemes @
A (4,4) (B (0,0)
€ (0,-4) ' (D) (-4,0)
The co-ordinates of the mid-point of the line scgment joining the
points (4, - 4 ) and (- 4, 4 ) are
(A (4,4) ‘ (B) (0,0)
(€) (0,-4) (D) (-4,0)
28. Yurave AB® nw fag (2, 4) R A fag A S frams (5, 7)) A fag
B % fagm= &
(A) (2,-2) B) (1,-1)
€ (-2,-2) D) (-1,1)
The mid-point of line scgment AB s ( 2, 4 ) and the co-ordinates of
point A are ( 5, 7 ), then the co-ordinates of point B are
(A} (2,-2) B) (1,-1)
€ (-2,-2) (D) (-1,1)
| SS/A/605 | Pape 12 of 44
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[110]

20. Forll 9v % = & Rl % Fde (10, -6 ) aU1 (-6, 10) B A I H
g ¥ il |
@ (-2-2) « . B (22)
© (-2,2) D) (2-2)
i G- ST o i £, o i, WlaTiieter B & el e [ 10 ~5)
and (-6, 10 ). Then the co-ordindtes of the centre o['the circle are
@ (-2-2) @) (22)
© (-2,2) . D) (2,-2)
30. ﬂﬁﬁwﬁﬁga%:ﬁtﬂ%ﬁiwﬁm 6),(0,4)3R (5,5) & & P
%aﬁm%ﬁiﬂm’é
A (5,3) B (3,4
© (4,4) , D) (3,5)
The co-ordinates, 6f the vertices of a triangle are (4, 6 ), (0, 4 ) and
(5, S) then the cq-qrdinat:s of the centroid of the triangle are
® &3 @ (34
© (4,4) . D (35)
31, Freffam § w—a s w1 qwrew T g 2 7
Sl LB A
(C) 22332 . (D) E%
SS/A/605
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| 110

fractions has terminating decima}
ing Ira

Which of the follow
expansion ? .
14 (B) 51_ ;__-72
" 20 X 32
8 (D) 15
2 3
b 22 x 32 2% %5
32 P ¥ wqd 0505 2 feran w1 a1 8
' 2?1 x5m
101
101 B
(A) ———-2] =3 (B) ..————21 3
| 101
101 _ D
© =0 © =g

, 0-505 can be written as

in the form of

on 5™
: ' 101
101 B M
(A 7l x52 (B) 21x53
101 o 101
© 58 By 3.2

a3 G TE@ia=bg+r H b=4,q=5 A r= | A o F TERIR?

&) 20 B) 21

(C) 25 (D) 31

If in division algorithm a=bg+r, b=4, g=5 and r = 1, then what

L ]

is the value of a ?

(A) 20 . (B) 21
C) 25 (D) 31 -
[ ssS/A/605 | Page 14 of 44
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34, UG 2x° - 4x-6 % AW ©

® 1,3 - B -13
Cc 1,-3 D) -1,-3
The zeroes of the polynomial 2x2 ~-4x-6 are

4 1,3 B) -1,3

(© 1,-3 | D) -1,-3

35.  WEUG (x° +x? +2x+1) (x?+2x+1) 1 UM 2 |
@A) 3 _ _ (B) 4
(ST - D) 6
The degree of the polynomial (§c3 +x2 +2x+1) (x2 +2x+1) is
@ 3 | (B) 4

(€} S (D) 6
36. Peferfan i@ ague 7€ 2 ?

A)  x?-7 | (B) 2x?+7x+6
! S - | 4
1 1 “

(C) 5 X +2x+4 (D) x4

Which of the following is not a polynomial ?

A)  x%2-7 (B) 2x%2+7x+6
© - La?ilaxsa D =+t
2 7 R %
SS/A/605

. s Page 15 of 44
BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[110]

E ﬁmﬁaﬁmmw*mm‘ﬁ ?
A)  x*+4 (B) x* -4
() x*-2x+4 (D) x?+48

Which of the following quadratic polynomials has zergeg

2and-27?
(A) x%+4 B) x°-4
(C) x?-2x+4 (D) x*+V8

38. 4fe 4EWE t2+7t+10 % [FH o @ ﬂﬁ?ﬁ*awaﬂm%
A 7 B 10
©@ =7 D) -10

If @ and B are the zeroes of the polynomial t?2 +7t+10 then the

value of a + B is
A) 7 (B) 10
€ -7 (D) -10

39. (sin30 +cos30" )-(sin60" +cos60’) =

(A} = B) O
€ 1 | (D) 2
SS/A/605 Page 16 of 4_‘;
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40, afy faara @Eeg (k-1)x2 +kx+1 H T [IH - 4 A k H M
. ’ 5
a5 B) 3
5 _4 | 2
(C) 3 D) 3
If one zero of the quadratic polvnomial (»‘t-—l]:w.':'rz +kx+1 is - 4 then
the valuc of kis _
5 9
4 4
(C) 3 L) =3
41, fodt s frg PR 9 W PA W PB @ WY tard d@i+h W # AR
PA =88 |1 pB =
(A) 63 - (B) 8&H
€y 12 &l (D) 16y
From an ‘eXtérnal point P, two tangents PA and PB are drawn on a
circle. f PA = 8 cm then PB=
(A) 6cm (B) 8cm
(C) 12cm (D) 16 cm
.42, 4R PATE pB Tt aw farg PR 5 0 9@ g9 W Wi wdf et 3
U8 ZAPB=80°dl LPOA =
(Ay  40° (B) S0°
(€). 80° - (D) 60°
! .Sg-"“n.‘.f.’.f?gé_l Page 17 of 44
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E

o
m (f PA and PB arc the tangents drawn from an external point Pg , |
circle with centre at O and ZAPB= 80° then £POA =
A)  40° (B) S0
(C) 80° (D) 60° |
43, 9w R Reeh fomg e i e, e g B TH et firogy
A HHE-FT H0 T 8 ?
(A)  30° (B) 457
© 60° D) 90°
What is the angle between the tangent drawn at any point of a
circle and the radius passing through the point of contact ?
(A) 30° (B) 45°
(C) 60° (D) 90° |
44, 3 a1 A Brnel 1 3T 3: 4 3 A AH AAwell F I 2
(A) €34 (B) 4:3
(C) 9:16 (D) 16:9
The ratio of the radii of two circles is 3 : 4 : then the ratio of their
areas is
(A) 3:4 B) 4:3
(C) 9:16 (D) 16:9
SS/A/605
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45. 42 & B 9 9w % 3u feuws Rraw Sy 1w 30° 8, 1 &AH &

Ay 51532

©) 462 T2

(B) 416 Trt?

(D) 406 B2

The area of the sector of a circle of radius 42 cm and central angle

30° is
(&) 515 cm?
(C) 462 cm?

(A) 7:5

A A ————

(C). 25:49

ratio of their radii is
(A) 7:5

(C) 25:49

;; Lﬁ/ 7sec’A~T7tan’ A=
A 49 '

(C) 14

(B) 416 cm?

(D) 406 cm?

46. 21 gui < affdl @1 s 5 : 7 @ @ SR Bl # g

(B) 5:7

(D)  49: 25

The ratio of the circumferences of two circles is S : 7 ; then the

(B)'S:'I.'r'

(D) 49:25

fler §iEd e aife yera siiftsfdues
e Gue, A Uz, sfiae-Fi,

OISR dl, sited, Al eeT, de-3m 3T

R e udten s o= 3nf & 3.,

{B) 7 BiharboardQuestionpaper.com

) O iy —
- 48, AR x=acos0 3N y=bsin0 @ b?x? +a?y? =

(A)  a%p? (B) ab
© a'p* D a?+ b
SS/A/605 Page 19 of 44
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2 '2_.
= " n b°X
If x ﬂCDSU and y-bsin(} then

EEpeem——_ U L
= - e

I

a)  a’b? B) ab |
2.1 |

© a*p’ 3] ‘ |

Lis "sﬂﬁwwﬁmaﬂ%ﬁmﬁmiﬁﬁqﬂm 60° %,mmﬁi

49. TH YHIT @ 2 au |
£ g ¥ E
].Oﬁ‘ﬁ E'r.

A) 10 (B) | i

(c) 15/3% D) 2048 __

4 e at istance of 10
The angle of clevation of the 1op of a tower at a dist m

: he » hel of the tower is
from its base is 60° ; then the hugh}

o

(A) 10m B) 10J3m
(C) 15J3m (D) 2043 m

ljo/q—q,rq?i.ntieaﬁi{ a0 W 6 S R SR sEht S 9 | 60° &1 Hi b
=T &, T SR 1 T 2

LB 3042 B) 35J3 #
(C) 2043 D) 4542 ®

A Kkite is a at a height 30 m from the carth and its string mak¢s an g

angle 60° with the carth. Then the length of the string is

(A) 30V2m (B) 35J3m
SS/A/605
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(110]
afe A(0,1), B(0,5)T C (3,4 )5t aABC & 3fid &, @ AABCHI

g (7 FTE H) B

(A) 16 (B) 12
c 6 (D) 4

IfA(0,1), B(0,5)and C(3,4) are the vertices of any AABC,

then the area ( in square unit ) of AABC is
(A) 16 (B) 12
€ © (D) 4

tan 10° . tan 23° . tan 80° . tan 67° =

@4 o . B) 1
© 3 (D) -J%
53. uﬁawﬁﬁﬁ%mmmﬁm 100 : 144 8, @ Il TTa Mn3di
S—— %l
A) 10:8 - ® 12:10
(€ 10:12 (D) 10:13

If the ratio of areas of two similar triangles is 100 : 144 then the

ratio of their corresponding sides is

(A) 10:8 (B) 12:10
(€C) 10:12 - (D). 10:13
SS/A/605 | Page 21 of 44
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Feeh @1
(&) Sa (B)
| § SIS T

(€) =9 @ D) ¥ R
A line which intETSCC[S a Ci[‘Clc in 1WwWo diSlinCt pOII’llS 1S CH]IEd
(A) Chord. (B] Secant
(C) Tangent (D)  None of thesc

55, G wrew Bl g g 40 9 F 3w A R PR aeweet o

g 9T et gom 2

(A) 9:4 & 16 : 81
(C) 81:16 D) 2:3
The corresponding sides of two similar trianglcs are in the ratio
4 : 9. What will be the ratio of the areas of the triangles ?
(A) 9:4 (B) 16:81
(Cy 81:16 (D) 2:3

56. AABC ~ADEF @4 BC = 3 81, EF = 4 &t 1 afR AABC #1 &%
54 §fi2 R, N ADEF#1 3%l 3
(A) 56 |2 (B) 96 2
(C) 196 &H? (D) 49 &2
AABC ~ADEF and BC = 3 cm, EF = 4 ¢m. If the area of AABC is
54 ¢m 2 » then the area of ADEF is

2
(A) 56 cm (B} 96 cm?
- 2

(€} 196 cm (D) 49 cm?

SS/A/605
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§57.

| s8.

[110]

foreft B ABCH £A = 90°, BC = 13 8, AB = 12 3t &1 AC %1 7H B

(A) 3@ (B) 4@

() saf (D) 6dd .

In any AABC, £A =90°, BC= 13 cm, AB= 12 cm ; then the value of
ACis

(A) 3cm | "(B) 4cm

(C) Scm D) 6cm

ADEF @91 APQR® fian @ % 4D = 2Q au1 4R = E, @ fa=foifaa #
HH-T1 HE R ?

(A) ZLF=/«P " (B)  ZF =«0Q

(C) _m-zp (D) ZE=cP

In ADEF and APQRIit is given that «D = £Q and /R = ZE, then

- which of the following is correct ?

(A) <ZLFE=2zP (B) ZF =/0Q
(C) <«ZD=sP (D) ZE=/P
59. AABC WS ADEF 38 W&K AB _BC _CA 43 o
| w 8™ DEEFTDF © <4 - 400
ZB=80°® £F 1 um 2 |
)  20° . (B) 45°
(C) 60° __ (D) 40°
SS/A/605
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_ _&E:E£=§£ and ZA = 4Qe
AABC and ADEF are such thal 5e=700 ;

ZB = 80° ; then the measurc of ZFis
(A)  30° (B) 45°

(C) 60° (D) 40°

00, A st 751 1 g Tansi 1 e 2

61.

a) 1 (B) 2

(C) 3 V[,Dr AT

The number of common tangents of two intersecting circles is

(A) 1 (B) 2

(C) 3 : 1 (D)  infinitely many
1 A1 2-5,5-8, 8- 11, ... % 97 ! €13 8

(A) 2 | (B) 3

(€ 4 D) 35

The .length of the class intervals of the classes,
2-5)5-8,8-11, ..is

A 2 (B) 3

(C) 4 (D) 3-5

62, afe IR sman faww densi w1 me 6 2, @ wad @ g 2

L& 2l (D) 15
SS/A/605
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Il the mean of four consccutive odd numbers is 6 then the lorgest

b

number is
A) 45 B 9
c 21 - (D) 15
63. WUW 6 TW WA WGAIHI 1 AT 2
A) 4 (B) 6
C) 7 . /m) T @ +i8 T8
The mean of first 6 even natural numbers is
(A 4 B) 6
C 7 (D)  none of these
64. 1+ cut? 0=
(A) sin? @ (B) cosec20
(C) tan?e@ (D) sec?0
65. 8,7,9,3,9,5,4,5,7, 5% ag
A) 5 (B) 7
(C) 8 D 9
The mode of 8,7, 9, 3,9, 5, 4, 5, 7, § is
A) 5 (B) 7
(C) 8 D) 9
SS/A/605 “age 25 of 44

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

E [110[

66. U P(E)=002@ P(E') S &
(A) 0-02 (B) 0002
(C) 098 (D) 0-97
If P(E)=0-02 then P(E’) is equal to
(A)  0-02 (B) 0-002
(C) 098 (D) 0-97

<l UIEI H Th WY HH A6 R FW HHG bl B A TF 2R R

SIfaeRan #4012 ?
1 2\
(A) 36 (B) 5
S S
(C) i8 (D) 36

Two dice arc thrown«at'the same time. What is the probability that
the difference of the numbers appcaring on top is zero ?

. E 1
A 3B B =
5
(€) . S
18 D) 35

68. aﬁfﬁfﬁmﬁaﬁmrﬁdmﬁaﬁmﬁmﬁ

w5 B) 2

[Ci j{ {D} 1

i SS/A/605
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RELCE

The probability of getting hcads on both the coins in throwing two

coins 1S
w ® 3
© ;. D) 1

69. Wa‘éﬁ@uﬁmuqmqmmmi%lsﬁ?@m_ﬁﬁméﬁ#ﬁ

vl 2
m 2 B) =
4 12
o X L
© £ D 3

A month is sclected at random in a year. The probability of it being

June or September is

(A)

(C)

3 1
r | B 13
1 1
6 Ll

70, o TR, 1% § w4 91 5 3 A i R

/ )
(.,-im'

(€)

1
> (B)
1

2 | (D)

winy W=

The probability of getting a number 4 or 5 in throwing a dic is

(A)

(€)

1
5 (B)

Wi Wl

(D)

o=

. [ SS/A/605
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—

f-z‘iﬁﬁa:amaﬁmygwmm:l?s??ﬁﬁ:ﬁ‘fﬁqéﬁm“‘“:"@%%

ITIU;

(A) 25:8 B) 25:16
i H Hig AE
(C) 16:25 ly} LI

The ratio of the volumes of two spheres is 64 :125. Then thc_ ratig

of their surface areas is

(A) 25:8 (B) 25: 106
(C) 16:25 (D)  nune of these
72, Q Fer 6 Browmall w1 aeE 4 0 58 T FE FAEdlH I 6 ;7 9,
a1 I T H AW B
(A)  96:125 (B) 96:175
(C)  175:96 (D} 20:63
The radii of two cylinders are in the ratio 4 : 5 and their heights are
in the ratio 6 : 7. Then the ratio of their volumes is
(A)  96:125 B) 9 :175
(C) 17596 (D) 20:63
g;. R frsg et s w1 vyt gz w2
(A) nR2 (B 2rR2
(C) 3nR? 11: 4nR2
What is the total surface area of hemisphere of radius R 9
(A)  =R? (B) 2xR?
O 3R D) 1zr?
SS/A/605
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74. ﬁ%%%ww%aaoﬁtﬁz‘%aﬁtﬁwméﬁ%?ﬁsmﬁ
fodes S @
(A) 10 & (B) 20 A
() 40@Hh (D) 30%d

) ) : ; -
If the curved surface area of a cone 1S 880 cm “and its radius 1s
14 cm, then its slant height is

(A) 10 cm (B) 20cm

(€) 40cm (D) 30cm

75.- afe frd T % Rl A w243 ﬁ?ﬂ%?ﬁwﬁﬁ{ﬁm%

() 28 (B) 2/3 h
C) 3 i b B 4 Tl
[f.the length of thé'diagonal of a cube is 2V3 cm, then the length of
its edge is '
(A) 2cm ‘(B) 2v3cm
(€) 3cm (D) 4cm |
76. %-!ﬂmmmmmaaﬁm%qu%mﬁé%ﬁ@mm
feem 7 &1 Smem 2 |
(A) QAT B W
(€ T (D) 9RE T
" éSfA/ﬁos _ Page 29 uf-44
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If the edge of a cube is doubled then the total surface area wyj)

* LF e ] A 3
- e total surface arca :
become how many times of the previous tota

(A)  Two times . (B) [Fourumes
(C) Six times (D) Twelve times

77. e T % ot qw A s Sd Fre ¥ T ST B FE 8 S
W1 I B
(A) 2:1 | B) 4:9
(€C) 3:2 (D) 4:3
The ratio of the total surface area of a sphere and that of a
hemisphere having the same radius is .
(A) 2:1 B) 4:9
€ 3:2 D) 4:3

78, af el 3G & o T dewa 1232 92 2, @ sedl e 2
(A) O rad | (B) 14 @ |
(C) 21 8A (D) 28 pepeil
If the curved surface area of a hemisphere is 1232 cmﬂthcn its
radius is‘\
i (B) 14cm
&) 2lem (D) 28 cm

SS/A/605
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81;

82

[110]
zrﬁ c050+c0520=1 Al sin20+sin9{) CARCIE! %

A -1 (B) 1
© o D) 2

1f cosB+cos20=1 then the value of sin® 0+sin? 0 is

A) -1 B 1

(C) O (D) 2

l1+tan? A _

1+ cot? A

(A) sec’ A LB -1
(C)  cot?A (D) tan®A

k% fom wm 3 fog fgm el i -6x+1 =0 & 7@ arafas @@
YA g ?

A 6 | B) 8

QG 9 (D). 10

For what value of k, roots of the quadratic equation kx? - 6x+1 =0

are real and equal ?
(A) 6 (B) 8
(C) 9 o (D) 10

afg wgwe p(x;wt{mwzﬁs at frafafea & a4 p(x)?musa
TUREVE § ?

Page 31 of 44
BiharboardQuestionpaper.com

(A)  x-=2 (B) x+2
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| 120,

. : then which of ¢f
If onc of the zeros of the pOl}'nom!al p(x) 1 . Of. tﬁe

following is a factor of p(x) ?

(A) x-2 (B) x*2
(©) =1 (D) x+1
-Qa

(A) % (B) c

b _b
(C) = (D) -
If « and B be the zeros of the polynomial ox? +ax+b then the V&ilue
ofa.Bis

a -a
a 2 ® =

b - b
(C) - Dby - =

84. fr=fafaa da N fam afem R ?
(A) 5 tx+3) (x-3) =x? - 4x3 (B) (x;sﬁ =4(x+4)
(C) (2x-2)? =4x24+7- (D) 4x+L=ax
; 4x
Which of the l'dllowing is a quadratic equation ? .
W) (x+3) (x-3)=x2~ax3(B) (x+3)2 =4(x+4)-
(C) (2x-2)%2 =4x24+7 (D) 4dx+-t —a,
94 x
SS/A/605

Page 32 OEZ.Z
BiharboardQuestionpaper.com |


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

| H | (110 |

85. el # & v feama w78 & 2
(A) Sx-x%=x2+3 B) x°-x?=(x-1}°
(C) (x+3)2=3(x%-5) | (D) (V2x+3)2=2x%+5
Which of the following is not a quadratic equation ?
(A)  Sx-x%=x%+3 B) x°-x?=(x-1)°
(C) (x+3)%=3(x%-5) (D) (V2x+3)2=2%%%+5

- 86, foum wliewl 242 ~7x+6=0 @1 fa9ww 2

(A) 1 (B). =1

(C) 27 . (D) 37

The discriminant of the quadratic equation 2x% -7x+6=0 is

A) 1 | (B -1

€ 27 (D) 37
87. Trafeliea # & fag x=2 $ @ w2 ?

A (2,0) B (21)

© (22) (D) ¥ wfi

Which of the following points lies on the graph of x =2 ?

(A (2,0) B) (2,1)

©  (2.2) (D)  all of these
TSSTATOUE |
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T 2
1 EHI LR @ P
gg. g P+1,2P+ 1, 4P~
B) 2
A 1
o) 4 |
@ . AP. then the value of P18
fP+1,2P+1,4p-12rc in A.P.
(B) 2
(A) 1
D) 4
€ 3
gg. TwE ¥é 1, 5.9, ...aﬂsrré:m% |
Bl 3
(A) 2 (B)
B
iy 4 o 1 1,5, 9 s
The common differency of arithmeuic progression 1, 9, 7, .-
Ay 2 B) 3
c) 4 Dy S
90, |HT I 5, 8. 11,04, ... @ FH-W 9E 38R ?
(A) 104dl 8) 1131
(C)p 12 |l ) 139
Which term of the AP, 5, 8, 11, 14, ... is 38 2
(A) 10th B) 11th
(C) 12th D) 13th
9i. sin(90 -A) =
(&) sin A (B) cosA
€ tanA (D) secA
SS/A/605
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92. I «=p=60" A A cos(a-B) F T 2
1
A 2
(A) > B 1
(C) O (D) 2
If a=B=60° then the value of cos(a-) is
1
@ 5 (B) 1
(C) O (D) 2
93. afk0=45"RA A sin 0 + cos 0 F AH B
v ,
8 B) V2
(A} 7 (B)
. 1
© 3 () 1
If 0 = 45° then the value of sin 0 + cos 0 is
i :
A —_ fdgre aid'® ore 3ite ifhfAas
& J2 (B.] V2 FAel UUe, mgzuzﬁanaz-aﬂ
UTISIhd, Siied, Ale ee, de- 317 31T
{C} 1 AfRmm o Wi R
2 ( BIhurboardQuestlonpuper com p
94. 3R A=30° @ A 2tand wm% -
1-tan® A
(A) 2 tan 30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
If A= 30° then the value of -—2—1;&5—‘5— 1S
1-tan? A
(A) 2tan30° (B) tan 60°
(C) 2 tan 60° (D) tan 30°
[ ss/A/605
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afq tanﬂ=1_§ g Sinﬂﬁm%

95.
(B) =
5 13
(A) 12
5 (D} 2
c S 5
(C) 13
If tan 0=% then the value of sin 0 13
12
S Bl 13
A 53 B 13
s D 2
96. C0859° tan80° _
sin3le® cot10°
1
Ay = By 1
75 (B)
J3
() e - (D) -_15 .
97. "R tan25° x tan65° = sin A E‘?Tﬁ AR AH %
(A) 25° (B) 65°
(C) 90° (D) 45°
If tan 25° x tan65° = s1n A then the valuc of A is
A o
(A) 25 | (B) 65°
(C v
} 90 {D} 459
SS/A/605
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98. 3fe cos0=x @ tan g =

"(B)

(C) yi-x2 (D) x

If cosf=x thentan =.

J 1+ x? _ 1- x?
& = B
© 1-x? (D) £
1~

199, (1-cos?g) =

Page 37 of 44

(A)  cos?0(l-cos) L(B] sin? 0 (1+cos? 6)
(C)  sin20(1=sin?0) (D)  sin20 (1+sin2 6)
. y-&ﬁﬁtf&tﬁ%{ﬁ%ﬁmmw% ?
A (y,0) | B) (2,y)
€ (0,x) D) T A P
What is the form of a point lying on y-axis ?
(A} (y0) (B) 12,3;}
(€. (0,x) (D) None uf these
._ sm,naos | -
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g - & /| SECTION - B
9 I W9 / Short Answer Type Questions
7vT HE 1% 30 7% oy Juvia wvT §1 599 & ft 159w & I F 1
7T & fy 2 o Fredfea &1 15 %2 =30

Question Nos. 1 to 30 are Short Answer Type Questions. Answer any

15 questions. Each question carries 2 marks. 15x2=30
1. w?ﬁﬁ'ﬁﬁ@ﬁaﬁaﬁmﬁsmuaoﬂzm@mwm%iaﬁmmmﬁ@aﬁ
978 7T H i € dan A wyl Fwwh 2

A ladder 7 m long makes an angle of 30” with the wall. Find the
height of the point on the wall where the ladder touches the wall,

2. T WA QS ABCD 6 Y9 AD ¥ w2 Wi W Ewh fig 8 wd BE,
CO® Fw wfoede ot 29 fag = fx AABE ~ ACFB,
E is a point on the.extended part of the side AD of a parallelogram
ABCD and BE.intersects CD at F; then prove that AABE ~ ACFB.

3 ABC%WW%%WﬁCW%!%'ﬁ%

AB? £9402

ABC is an isosceles right triangle with 20

as right angle. Prove that
AB? =2AC?2

AH=Acaﬁwmﬁm§M3¢ﬁmﬁgm CB W fom £ uw fag
813 AD L BC 3k EF | ac %,H’Iﬁraaa‘"ti“a;aABD~aECFél
E i :

Isosceles AABC with
AB = AC.If AD | BC and EF | AC, Prove that AABD ~ AECFE
SS/A /605
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& AABC 9 Yo AB 3Rk BC @t Wity AD W 3= APQR Hl

Wﬁ'm#R.PRmm@mpmm:mﬁﬂmﬁ
% AABC ~ APQR.

| -m E"

Sides AB and BC and median AD of a AABC are respectively
proportional to sides PQ and PR and medium PM of another APQR.
Then prove that AABC ~ APQR.

6.  AABC AUl ADEF §Weq § aun t9% &awel #w¥: 9 Af2 awn 64 ¥ht?
AR DE=513d @ A AB 7w

AABC and ADEF are similar and their areas are 9 cmzand 64 cm 2

respectively. If DE = 5-1 ¢m then find AB.
7. x3+1 %) x + 18 9 #ifo

~ Divide x° +1 by x + 1.
8. YfFws Ry weifen w1 @ %X 504 @1 1188 %1 HoWo WA W

Using Euclid's vision @lgorithm, find the H.C.F. of 504 and 1188,

9. foum wiem 242 ¥5x-3=0 % fadw® wa st 3k g&l 6 vl f 7@
C2 (I |

Find the discriminant of the quadratic cquatioﬁ 2x? +5x-3=0

and find the nature of the roots also.
10. 38 farg ¥ Préwie wa & A sl (- 1, 7) 3k (4, - 3) ) Rrem 9@
tErEvE F 2 : 3% W # I fanfm s 21

Find the co-ordinates of the point which divides line segment
joining the points (- 1,7 ) and (4, - 3 ) in the ratio 2 : 3 internally.

}
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‘ 5 & = 5’ - 1 ] 3 -
Find the area of the triangle whose vertices are ( h (3, 5 )
and (5, 2).

&A% 19w
12, 5 5 &1 Ryl 943 5 R o 1 FA TR e - z
; ; f |
The diagonal of a cube is 93 cm. Find the total surface areq o |
cube. |
13. g+ % 5- V3w swfiy we R
Prove that 5 -3 is an irrational number. . ‘ .
14, k% e am & fog gl (1, 1), (3, k) 3R (= 1,4 ) @ & »
For what value of k points (1L, 1),(3, k)and (-1, 4 ) are
cellinear ?
15 38 T ww @ frg S fagad (6, 5) 3k (-4, 3)% wugry
al -
Find such a peint on Y-axis which is equidistant from the points
(6,5)and (-4, 38).
16. 3fz tanB=-1-5§- ﬁ?ﬁsin9+cosémmﬂ3ﬁﬁﬁf
If tan9'=I5—2-then find the value of sin ¢ + cos 0,
17. 3R sin3 A=cos(A - 260) & & 34 T = w2 ) A %1 9 370 F
Il sin3A=cos(4-26°), where 34 is an acyte angle, then find the .
value of A,
18, aﬁwaﬁmﬁﬂmso%@aﬁﬁ%—mwﬁ 7 ﬂﬂg"
N Femd %y
SS/A/605 i VN —
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The sum of two numbers is 50 and one number is % times of the

other ; then find the numbers.

19. i ffl wig % anwm $ fBren 7 3 @ wh S 24 T R A wWH
THYE FT GARA WA h|
If the radius of base of a cone is 7 cm and its height is 24 cm then
find its curved surface area.

20. W% Ul 6 fome At g ) cw 7 W R 40 fime d 3@ go g R mn
SESC IR
The length of the minute hand for a clock is 7 cm. Find the area
swept by it in 40 minutes.

21. fog =i % tan 7° . tan 60° . tan 83° = V3.

~ Prove that tan 7%, tan 60° . tan 83° = J3.

22, 3 HETTG WS QUi 7 6t e 3l @1 9m 365 B
Find two consecutive positive integers, sum of whose ;squares
is 365. .

23. Q FEAIA! & D F A 180 81 B €GA FN T TY GG B HS T 2
T wuq % fore efte fad)

" The difference of squares of two numbers is 180. The square of the
smaller number is 8 times the larger number. Write the equation
for this statement. '

SS/A/605
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24,

25.

- 26.

@,

28,

29,

30.

[110
i PR 9 hAY: |
%ﬁﬁ@p@ﬁﬁaﬁﬂsﬁffamaﬁmﬁm gﬁ%f’(‘@

PS _pr ) 135,&@-3;%%@@;?@; :
f& So=Tg T £PST £PRQ H’ffi’mg

g )
In a triangle PQR, two points S and T are on the sides pPQ ang " ,

" : PS_PT ZPST =/PRQ, th i
espectively such that SO TR and Q. then prove thay

APQR is an isosceles triangle.

fee w3 =1y o wfte 2x2 -2V2x+1=0 F T A FY

Using quadratic formula find the roots of the €quatigp
2x% -2J2x +1=0, r

S+ 11+ 19 + .., +67 & dew 7@ H)

Find the sum of 3 + 11 +19+ ., +67.
Hﬁﬁmmﬂamsﬁqﬁgﬁwm: 43@‘79%&@;@;%.

AP
fag st g J1+cos8  1+cosp
l-cos® ~“ging -
Prove that \[T’_‘EEEO_HCQN
g l=cos® "“sing -
aﬁﬁ tangﬂ_tanz-?a = cot 63°

.Cot81¢°
Prove that tan9°  1gno7ve
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&4 3787 W¥T / Long Answer Type Questions

Wﬁwslﬁasﬁémm?tﬁ&ﬁﬁ:ﬁ4uﬁ%milm
e & fau 5 o fmifa 3 4x5=20

Question Nos. 31 to 38 are Long Answer Type questions. Answer any
4 questions. Each question carries 5 marks. 4x5=20

31. Ry whiem W x+3y-6=0 T 2x-3y-12=0 Na@ e aun
& )

Draw the graphs of the pair of linear equations x+3y-6=0 and
2x -3y-12=0 and solve them.

32. firg it s aRk et e o o v q@ B & T B F FoE @ ol
L @R ke W A sy, SR 8 A Ryw g @ )

If one angle of a triangle is equal to one angle of the other triangle

and the sides included between these angles are proportional then
prove that the triangles are similar.

33. QA 3B DI T AYA IH F ANF H 90 T R @ A S F
e g R A wem W W

A two dié;it number is four times of the sum of its digits and twice
the product of its digits. Find the number.

34, 7-6Mmﬁmﬁmﬁs:sﬁ-mﬁﬁmﬁaﬁ|aﬁ
LR R

Draw a line segment of length 76 e¢m and divide it in the ratio
5 : 8. Measure both parts.

SS/A/605
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35.

36.

37.

[110)

fug =t fy (secO-tano) =I+2_tan29_25e00 .tan0.
(secO+tan0) .

Prove that (secO-tan0) =1+2tr:aml2 g—2secH .tan®.
(secB+tan0)

Qg R Pt 15%3&9%%1%@%"1%@1%&
Rl ahfls 57 3 it 61 ot 5 i & e A

The radii of two circles are 19 cm and 9 cm respectively. Find the
radius of the circle which has circumference equal to the sum of

the circumferences of the two circles.

frfeifad @ =1 wen 5@ =t

T A

11-13.

13-15

15-17

17-19

19-21

21-23

23-25

EREILGI

7

6

9

13

20

Find the mean of the following distribution :

Class-
interval

11-43

13-15

15-17

17-19

19-21.

21-23

23-25

Frequency v

6

9

13

20

S

4

38.

T TP % foas K feds I 4 I R 1 W o R ¥ vhow
(uftferar) 18 @ft 3 6 Bt €1 5w fomes o wohydi e =)

The slant height of a frustum of a cone is 4 cm and the perimeters

(circumferences) of its circular ends are 18 cm and 6 cm. Find the

curved surface area of the frustum.

——————
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